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Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda 24

Q. What is the order of magnitude of electric resistance of the human body (dry)?
(a) 10*2 ohm
(b) 10*4 ohm
(c) 106 ohm
(d) 10”8 ohm

T. AT RR (Yh) & g afciy & TRATOT HT HA T §?
(T) 102 3H
(fY) 104 NH
(HY) 106 3NA
(31) 108 3NH
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‘ Kiran Kumari 22 hours ago (edited) VARSHA KUMARI 22 hours ago
- A
Ans -10"4 ohm _ _ ) . o Option B is correct answer 104ohm..... Very very thanks sir g, «'a
Human body has different resistances, when dry, resistance is 100,000 ohms. When
wet because of sweat or water, resistance is only 1,000 ohms. s’ OGP Reply
Thanku sir Jg Js o's o's
e Seenu X Priti 20 hours ago
1 Reply =+ .
" 9] C:;.) A option is correct.
Babita Kumari 22 hours a0 Or resistance of a dry human body is 10k0=1040
Options -(A)..10*2 ohm ...1000 ohm ..... thank you 5o Much Sir Ji s'e s s'a se on o e’ GP Reply
N A KA
‘ 5 91 Reol SOUVIK BISWAS 11 hours ago
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! 10*%2 ohm ( electrical engineer)
SHIVAM KUMARIN 22 hours ago e ' GH Repy
102 at dry and
10'3 at wet condition Jy 4w Harshita v 22 hours ago (edited)
&1 G Repy Electric resistance of human body (dry) has an order of magnitude is 10 *2 OHM MNE
! MAGNITUDE NHI PDA THA ISLIYE 10*4 LIKHA THA CLASS KE LAst MEIN ab dekha thik
sachin Biradar 15 hours ago se gquestion phle mne dry human body dekh kr answer tick kr diyatha & @ & & @2
2 &8 P& forwetorbroken skinis 1000 ohm &

10*4 Oham for Dry body ah s Somi 111 )
10%2 Oham for wet bod anupriya soni 1 ours ago e GF Reply

104 ohm
F - T -
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I‘ gl] Py @ Ravi Raj 22 hours ago
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Q. Which one among the following has the highest energy?
(a) Blue light

(b) Green light

(c) Red light

(d) Yellow light

g. Rci@a # ¥ frad ssadd Sar &2
(T) el &l

() & a=h

(HY) o &=y

(3r) drely Qe

Adda
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Q. Light is made of seven colours. What is the method of separating the colours?
(a) The colours can be separated by a prism

(b) The colours can be separated by a filter

(c) The colours can be separated by plants

(d) The colours cannot be separated

O. UhIT T Wit @ fHART 941 BT §1 Wi B 37697 Fa hr Af = 87
(T) Y A Th NSH gRT 3191 fhAT ST bl &

(@) WiF A e gRT 39T fRAT ST vt &

(&) gt gRT @I Y 3rereT fFAT AT ehdT ©

(3Y) T P 3797 AST HAT ST HbhaT &
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Q. In which of the following conditions wet clothes will dry earliest?
(a) 100% RH, 60° temperature

(b) 100% RH, 20° temperature

(c) 20% RH, 20° temperature

(d) 20% RH, 60° temperature

. frfaf@a & @ fra f&Ufa d Mo sus sy g@ar
(T) 100% 3IRTH, 60 T3 A
(1) 100% 3IRTH, 20 23 dATAA
(HY) 20% 3IRTH, 20 2t amUAEA
(3Y) 20% 3IRTH, 60 TSt aruaAT

e
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Q. In the night wind blows fast, dew is not formed because
(a) Rate of evaporation is fast

(b) Moisture in air is low

(c) Temperature is high

(d) SKky is not clear

U. U F gad AT Teldr §, 39 J0 deddr, Hifeh
(T) arodiepIoT Y &7 AT §

() gar # 0 HH §

(&) argArT 3 §

(3Y) 3TPIA TUT A% &
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Q. In an earthen pitcher, the water remains cold due to the process of
(a) Condensation

(b) Evaporation

(c) Sublimation

(d) None of the above

7. fcd & g A ha Ufshar & $ROT Ul 33T T 67
(T) "

() arsdiepoT

(&) 3= g1 v fopar

&) 3ugE # A PIS A&

e
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Q. The velocity of sound in air is approximately -
(a) 10 km/sec.

(b) 10 mile/min.

(c) 330 m/sec.

(d) 3 x1010/sec.

U.ag # Cafd &1 9T 18T Bl & -
() 10 fralY / Ahs

() 10 AT /7 Aae

() 330 #Hex / AFs

(3r) 3 x 1010 / APsS

Adda

e
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Q. The atoms, in which the number of protons is same but the number of
neutrons is different, are known as -

(a) Isobars

(b) Isomers

(c) Isotones

(d) Isotopes

v, S WANRT A dieial Hr Jeqr A gdl § W il hr Je&ar e
@?ﬁ%mﬁ%

(T) ITSHEEIR

CURKIERICE]

(&) AR

(31) AT
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Q. Radioactivity was discovered by:
(a) Rutherford

(b) Becquerel

(c) Bohr

(d) Benjamin Franklin

u. YA Ear fr @rer dr oA
(T) TIPS
CIEETG

(&) g
() donfAe Shepferet

Adda
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Q. The element found maximum in the soil layer is -
(a) Oxygen

(b) Nitrogen

(c) Manganese

(d) Silicon

7. el fr wa F waife ur=r a= arer aca © -
(T) i
(dY) SISt
GUKLGIE]
(31) faferia

Adda

e
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Q. Which is the most reactive metal?
(a) Sodium

(b) Calcium

(c) Iron

(d) Potassium

T. 98 31 ufafshanier arg @ia @ §2
(T) |ifsas
(&) S

(&) e
(1) el=A

Adda

e
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Q. The most commonly used substance in fluorescent tubes are -
(a) Sodium Oxide and Argon

(b) Sodium Vapour and Neon

(c) Mercury Vapour and Argon

(d) Mercuric Oxide and Neon

T. FARIAC ¢Jd A Jad 3f¥F sEATa @1 arerm uery § -
() |f3aa 3fearss 3R 3mia

(1) |WIA am™g iR A

(&) g arsg 3R 3

@) FARRF FaEs 3R [

Adda

e
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Q. The chemical name of limestone is?
(a) Calcium Carbonate

(b) Magnesium Chloride

(c) Sodium Chloride

(d) Sodium Sulphide

. Il U] &l TR AT §?
(T) FTRRIH FrEle

(&) HTANATH FeiRES

(&) afzad FanEs

&) |fad Gewrss

Adda

e
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Q. Monazite is an ore of -
(a) Zirconium

(b) Thorium

(c¢) Titanium

(d) Iron

q. Alrese fhaer 3a%E © -
(T) SoRaad

(&) NRTH

(¥ e

(31) <

Adda

e
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Q. Monazite is an ore of -

(a) Zirconium
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Q. Galvanized iron is coated with -
(a) Aluminium

(b) Galena

(c) Silver

(d) Zinc

7. deaeiises W & Wd I e § -

(T) vogAfags
(sft) dAfer=ar

(&) =Y
&) S

Adda
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Q. Bronze is an alloy of -
(a) Copper and Tin

(b) Copper and Silver
(c) Copper and Zinc

(d) Copper and Lead

. T AU © -
(T) R 3R fe=a
() arer 3R T
(&) PR IR &w
() AR 3T s

Adda

e
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Q.Dryiceis -

(a) Solid water

(b) Mountain ice

(c) Solid CO,

(d) Solid carbon mono oxide

T.Qqeh % & -

(T) 3 Ut

() gers $r TF

(&) 3| Co,

(3Y) B P AT AHTFASS

Adda
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Q. Which one of the following mixtures is homogeneous?
(a) Starch and sugar

(b) Methanol and water

(c) Graphite and charcoal

(d) Calcium carbonate and calcium bicarbonate

g. Aeafaf@a & & ala ar Fsor gaeh g2
() Terr 3R e

() AYATT 3R g

(&) Awrse IR IRPIA

(3Y) HIRRIA FrElde IR HfRR~IA qEFEIAT

Adda

e
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Q. Polymer of Natural Rubber is -
(a) Ethylene

(b) Isoprene

(c) Acetylene

(d) Hexane

U. UTpfcieh T8 &l Tgeleh o -
(T) fdela

(&) A

(&) vfafesha

() T

Adda

e
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Q. The predominant organic acid in grapes is -
(a) Formic acid

(b) Benzoic acid

(c¢) Lactic acid

(d) Tartaric acid

U.30Q # UHW Pfdd 3 § -
(v) wifde wids
CHRE T ECIRN TS
(&) ofdes wids
(&) e ufds

Adda

e
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Q. Which one of the following has the highest fuel value?
(a) Hydrogen

(b) Charcoal

(c) Natural gas

(d) Gasoline

. Aeafaf@a d @ fraar $9a Hea gaw 3w §7
(T) FISgIele
() IRPA

(&) urpfae I
@) Aarei=

Adda
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Q. The main component of Liquid Petroleum Gas (LPG) are :
(a) Methane, Ethane and Hexane

(b) Methane, Pentane and Hexane

(c) Propane and Butane

(d) Methane, Carbon Monoxide and Hydrogen

. aRe Ugiferar 3| (Tordish) & A& ueh §:
(T) A, $A9 3 T

(&) AT, dea 3R s

(&) o 3R A

&) AT, Prea AA3HFAEs iR TESea

Adda
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Q. The book ‘Genera Plantarium’ was written by -
(a) Linnaeus

(b) Bentham and Hooker

(c) Engler and Prantle

(d) Hutchinson

U. S CACRIAA ATHS GEceh fehaeh gRT forgl a5 o -
(v) farfasm

(&) st 3T g

(#) TTeR 3R ued

(3) sRa

Adda
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